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ASSIGNMENT – 1 

Max : 15 marks 

Answer any one of the question not exceeding 1000 words  

1. Discuss the evolution of management theories. 

Nkyhz;ik nfhs;ifapd; Njhw;wk; gw;wp tptupf;fTk;. 

2. Explain the various steps involved in the process of planning. 

3. Explain the decision making process. Also discuss how decision making under different 

conditions are made. 

KbntLj;jypd; gb epiyfis tpsf;Ff. NkYk; khWgl;l epiyfspy;  KbntLj;jy; 

 vt;thW mikfpwJ vd;gij tpthjp. 

 

ASSIGNMENT – 2 

Max : 15 marks 

Answer any one of the question not exceeding 1000 words  

1.  Explain the principles of Organization. 

    

2. Explain the merits and demerits of line and staff organisation. 

3. Explain the steps in Manpower Planning and Selection process. 

Kdpj rf;jpj; jpl;lkply; kw;Wk; Nju;Tr; nray;ghl;bYs;s gbepiyfis tpsf;Ff. 

  



ASSIGNMENT – 3 

Max : 15 marks 

Answer any one of the question not exceeding 1000 words  

1. Discuss the various stages in the control process. 

2. Explain the various Problems in Co-Ordination. 

ஒருங்கிணைப்பின் பல்வேறு சிக்கல்கணை ேிைக்குக. 

3. Discuss the various types of budgets in detail. 

ேரவு சசலவு திட்டக் கட்டுபாட்டின் gy;NtW tiffis gw;wp tptupf;f. 
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ASSIGNMENT – 1 

Max : 15 marks 

Answer any one of the question not exceeding 1000 words  

 

1. Describe the Accounting Concepts and elaborate the rationale behind each concept. 

fzf;fpaypd; Nfhl;ghLfis tpthpf;f kw;Wk;  mj;jifa Nfhl;ghLfSf;F ,ilapyhd 

Kf;fpaj;Jtj;ij $Wf. 

2. Give the necessary journal entries to rectify the following errors. 

I. A sum of Rs.500 paid of Easwaran has been debited to Easwaran& Sons 

account. 

II. Repairs to furniture Rs50 has been debited to furniture account. 

III. The proprietor paid Rs.105 as premium on his life policy and this has been 

entered in the insurance account. 

IV. Kesavan returned us goods worth Rs.120. This was wrongly entered in the 

Purchase Returns Account. The account of Kesavan has been written up 

correctly. 

V. An amount realised from cash sales Rs.75 was wrongly entered as commission 

received in the cashbook. 

VI. Received from Alagan Rs.120 and from Alagiri Rs.420 but entered that Rs.420 

was received from Alagan and Rs.120 was received from Alagiri. 

fPo; fz;lgpiofisj; jpUj;jj; Njitahd Fwpg;Ngl;L gjpTfisj; jUf. 

1. <];tud; mth;fSf;F toq;fg;gl;l njhif&.500> <];tud;  rd;]; fzf;fpy; 

gw;Witf;fg;gl;lJ. 



2. kidj;Jizg; nghUl;fs; guhkhpg;G nryt&.50>kidj;Jizg; nghUl;fs; 

fzf;fpy; gw;W itf;fg;gl;lJ. 

3. chpikahsh;>jdJ Mas; fhg;gPl;L gj;jpuj;jpw;F&.105 fphPkpak; nrYj;Jfpwhh;> 

,e;jnjhif Mas; fhg;gPl;L fzf;fpy; gjpT nra;ag;gl;Ls;sJ. 

4. Nfrtd; &.120 kjpg;Gs;s ruf;Ffisj; jpug;gpmDg;gptl;lhh;. ,J jtWjyhf 

nfhs;Kjy; jpUg;gf; fzf;fpy; gjpag; ngw;Ws;sJ. Nfrtdpd; fzf;F rhpahf 

vOjg;gl;Ls;sJ. 

5. nuhf;ftpw;fid %yk; fpilj;j njhif&.75>nuhf;f Vl;by; juFj; njhif vd 

jtWjyhfg; gjpag; ngw;Ws;sJ. 

6. mofdplkpUe;J ngw;w&.120> mofphpaplkpUe;J ngw;w&.420> jtWjyhf 

mofdplkpUe;J &.420 ngwg;gl;ljhfTk;> mofphpaplkpUe;J&.120 

ngwg;gl;ljhfTk;  gjpT nra;ag;gLfpwJ. 

3. From the following trial balances extracted from the books of  S.Sujan Singh prepare a 

trading and profit and loss account for the year ended 30th September 1989 and a 

balance sheet as on that date: 

 
DEBIT BALANCES: 
 
Drawings 
Land and Buildings 
Plant and Machinery 
Furniture and Fixtures 
Carriage inward 
Wages 
Salaries 
Sales Returns 
Bank charges 
Coal, gas and water 
Rate and taxes 
Purchases 
Bills Receivable 
Trade Expenses 
Sundry Debtors 
Stock ( 1st October 
1988) 
Fire and Insurance 
Cash at Bank 
Cash in Hand 

 
Rs. 

 
6,480 

25,000 
14,270 
1,250 
4,370 

21,470 
4,670 
1.760 

140 
720 
840 

42,160 
1,270 
1,990 

37,800 
26,420 

 
490 

30,000 
850 

 

 
P. 
 
00 
00 
00 
00 
00 
00 
00 
00 
00 
00 
00 
00 
00 
00 
00 
00 
 
00 
00 
00 

 
CREDIT BALANCES: 
 
Capital A/C 
Bad Debt provision 
(as on 1-10-1988) 
Sales 
Discount account 
Purchases returns 
Sundry creditors 
Apprentice premium 

 
Rs. 

 
90.000 
2.470 

 
91,230 

120 
8,460 

12,170 
500 

 

 
P. 

 
00 
00 

 
00 
00 
00 
00 
00 

Charge Depreciation on land and building account at 2½ %, on plant and machinery 

account at 10%, and on furniture and fixture and fixtures account at 10%. Make a 

provision of 5% ,an sundry debtors for doubt full debts. Carry forward the unexpired 



amounts for fire insurance Rs.125, rate and taxes Rs. 240 and apprentice premium 

Rs.400. Charge 5%, interest on capital interest on drawing is Rs. 300. The value of stock 

as an 30th September 1989 was Rs. 29,390. 

 

v];. R[d; rpq; mth;fsJVLfspypUe;JfPo;fz;l ,Ug;gha;T. fpilf;fg; ngw;Ws;sJ. 

,tw;iwf; nfhz;L>tpahghu> ,yhgel;lf; fzf;ifjahhpf;f 1989>nrg;lk;gh; 30 Mk; 

NjjpKbTw;wMz;bd; fzf;Fk;>md;iwaNjjpapy; epytpa ,Ug;Gepiyf; Fwpg;;;G 

jahhpf;fTk;. 

 
gw;W,Ug;Gfs; 

 

vLg;Gfs; 

epyk; kw;Wk; fl;blq;fs; 

Miykw;Wk; ,ae;jpuq;fs; 

kidJizg; nghUs;fs; 

cs;tUk; $yp 

$ypfs; 

rk;gsk; 

tpw;gidjpUg;gk; 

tq;fpfl;lzq;fs; 

epyf;fhp>thA>jz;zPh; 

Mfpait 

tpiykw;Wk; thpfs; 

nfhs;Kjy;  

ngwj;jf;fgw;Wr; rPl;Lfs; 

tpahghur; nryTfs; 

gw;gyfldhspfs; 

ruf;fpUg;G (1>mf;Nlhgh; 

1988) 

jPkw;Wk; fhg;gPL 

tq;fpapy; cs;snuhf;fk; 

ifapy; cs;snuhf;fk; 

 

 
&. 

 
6,480 

25,000 
14,270 
1,250 
4,370 

21,470 
4,670 
1.760 

140 
 

720 
840 

42,160 
1,270 
1,990 

37,800 
26,420 

 
490 

30,000 
850 

 

 
ig. 

 
00 
00 
00 
00 
00 
00 
00 
00 
00 
 
00 
00 
00 
00 
00 
00 
00 
 
00 
00 
00 

 
tuT ,Ug;Gfs; 

 
%yjdf; f/F 

thuhf;fld; xJf;F 

(1-10-1988 md;W)  

tpw;gid 

js;Sgbf; fzf;F 

nfhs;Kjy; jpUg;gk; 

gw;gyfldPe;Njhh; 

njhopiyfw;ftpUk;Gth; 

Kidkk; 

 
&. 

 
90.000 
2.470 

 
91,230 

120 
8,460 

12,170 
 

500 
 

 
ig. 

 
00 
00 

 
00 
00 
00 
00 

 
00 

epyk; kw;Wk; fl;blq;fs; fzf;fpd; kPJ gpd;tUk; Nja;khdq;fis fzf;fpLf. Miy 

kw;Wk; ,ae;jpuq;fs; fzf;F 2½ %> kidj;Jizg; nghUs;fs; fzf;F 10% > gw;gy 

fldhspfs;> Iaf; fld;fSf;fhd xJf;F 5% > jP fhg;gPl;bw;f;fhd Kjph;r;rpAwhj 

njhif &.125> tpiy kw;Wk; thpfs; &.240>njhopiy fw;f tpUk;Gth; Kidkk; &.400 

Mfpatw;iw Kd; Nehf;fp vOJf. %yjdj;jpypUe;J vLf;fg;gl;l vLg;Gfs; kPjhd tl;b 

5% >vLg;gfs; &.300> 1989>nrg;lk;gh;> 30 Mk; Njjpad;W ,Ue;j ,Wjp ruf;fpUg;G 

&.29>390. 

 

 

  



ASSIGNMENT – 2 

Max : 15 marks 

Answer any one of the question not exceeding 1000 words  

1. Discuss the functions, scope, and limitation of management Accounty 

Nkyhz;ik fzf;fpaypd;  gzpfs;, tPr;nray; gad;fs; kw;Wk; FiwghLfs; Mfpatw;iw 

tpthjpf;f. 

2. From the following information you are required to prepare a Balance Sheet 

Current ratio     1.75 

Liquid ratio     1.25 

Stock turnover ratio                   9 

[Cost of sales / CL. Stock] 

Gross profit ratio    25% 

Debt collection period            1 ½  months 

Reserves & surplus to capital   0.2 

Turnover on Fixed Assets   1.2 

[Based on Cost of sales] 

Capital gearing ratio    0.6 

Fixed assets to Net worth            1.25 

Sales for the year      1,20,000   

 

fPo;fz;l tptuq;fisf; nfhz;L ,Ug;Gepiyf; Fwpg;G jahhpf;f. 

elg;Gtpfpjk;      1.75   

ePh;iktpfpjk;      1.25   

ruf;fpUg;G    

tpw;gidtpfpjk;        9     

(tpw;gidtpiy / 

,Wjpruf;fpUg;G)   

nkhj;j ,yhgtpfpjk;    25% 

fld; t#ypf;Fk; fhymsT   1 ½khjq;fs; 



KjYf;fhdxJf;fPL,cghp   0.2 

epiyj;jr; nrhj;Jf;fs;  

tpw;gidtpfpjk;     1.2 

(tpw;gidtpiyiag; nghWj;J) 

gq;FKjy; GwKjy; tpfpjk;     0.6 

epiyj;jr; nrhj;Jf;fs; kPjhd 

epfujd;ik             1.25 

tUltpw;gid           1,20,000 

3. From the following of ‘B’ Ltd prepare sources and uses of Funds flow statement for 1987. 

 

ASSETS 
 
Cash 
Accounts receivable 
Merchandise inventory 
Long term investment 
Land 

 
 

75,000 
90,000 

1,20,000 
10,000 
30,000 

 
 

35,000 
98,000 
87,000 
15,000 
20,000 

        3,25,000 2,55,000 

LIABILITIES AND STOCK HOLDERS 
 
Equity accounts payable 
Notes payable [ short term] 
Notes payable [due dec. 1998] 
Capital stock 
Retained earnings 

 
 

45,000 
35,000 
20,000 

1,50,000 
75,000 

 
 

50,000 
20,000 
……… 

1,25,000 
60,000 

3,25,000 2,55,000 

 

fPo;fz;l M vd;wepWkj;jpd; 1987-k; Mz;Lf;fhzepjpelkhl;lmwpf;ifiaj; 

jahhpj;J. epjpfspd; %yq;fs; kw;wk; gad;ghLfisfz;lwpf. 

 

nrhj;Jfs; 

 

nuhf;fk; 

ngwj;jf;ff; fzf;Ffs; 

tzpfruf;fpUg;G 

ePz;lfhyKjypLfs; 

epyk; 

 
 

75,000 
90,000 

1,20,000 
10,000 
30,000 

 
 

35,000 
98,000 
87,000 
15,000 
20,000 

        3,25,000 2,55,000 



nghUg;Gfs; kw;Wk; gq;Fjhuh;fs; 

 

nrYj;jj;jf;fNeh;ikg; gq;Ff; fzf;Fs; 

Fiwe;jfhynrYj;jj;jf;fFwpg;Gfs; 

1988 brk;gh;>nrYj;jj;jf;fFwpg;Gfs; 

ruf;fpUg;GKjy; 

<l;lg;ngw;wtUkhdk; 

 
 

45,000 
35,000 
20,000 

1,50,000 
75,000 

 
 

50,000 
20,000 
……… 

1,25,000 
60,000 

3,25,000 2,55,000 

 

 

ASSIGNMENT – 3 

Max : 15 marks 

Answer any one of the question not exceeding 1000 words  

 

1. From the following Profit and Loss a/c, you are required to calculate cash from 

operation. 

Profit and Loss a/c for the year ending 30th June 2000 

 

To Salaries 

To Rent 

To Depreciation 

To Loss on sale of plant 

To Goodwill written off 

To proposed dividend 

To Net Profit 

Rs.  

By Gross profit 

By Profit on sale of 
land 

By Income tax refund 

Rs. 

5,000 

  1,000 

  2,000 

  1,000 

  4,000 

  5,000 

10,000 

25,000 

  5,000 

  3,000 

 33,000  33,000 

 

 

 

 



fPo;fz;l ,yhgel;lf; fzf;fpypUe;J tzpf ,af;fq;fspypUe;J ngwg;gLk; 

nuhf;fj;ijf; fzf;fpLf. 

     ,yhgel;lf; fzf;F 30 [{d; 2000 md;W Kbtw;w Mz;bw;fhdJ 

 Njhif 

&.    ig. 

 Njhif 

&.    ig. 

rk;gsk; 

thlif 

Nja;khdk; 

Miytpw;gidapy; el;lk; 

Nghf;nfOjg;gl;lew;ngah; 

ghpe;Jiuf;fg;gl;lgq;fhjhak; 

epfu ,yhgk; 

  5,000 

  1,000 

  2,000 

  1,000 

  4,000 

5,000 

10,000 

00 

00 

00 

00 

00 

00 

00 

nkhj;j ,yhgk; 

epytpw;gidapy; 

,yhgk; 

tUkhdthp 

jpUk;gngw;Wj 

25,000 

 

  5,000 

 

  3,000 

00 

 

00 

 

00 

 

 33,000 00  33,000 00 

 

2. From the following information relating to Sri Ram lit., calculate. 

a. P/V Ratio. 

b. Break Even Point. 

c. Margin of safety.   

Total Fixed cost Rs.45,000 

Total variable cost Rs.75,000 

Total sales  Rs.1,50,000 

fPNo nfhLf;fg;gl;Ls;s =uhk; ypkpl; jfty;fis nfhz;L fzf;fPLf. 

m)  ,yhg cw;gj;jp msT tpfjk;. 

M) ,yhg el;lkw;w tpiyg; Gs;sp gFg;gha;T. 

,) ghJfhg;G gFjp. 

nkhj;jkhw nryT &.45>000. 

nkhj;jkhWk; nryT &.75>000. 

nkhj;jtpw;gid &.1>50>000. 

 

 



3. Parker Ltd. manufactures two brands of pen Hero, & Zero. The sales department of the 

company has three departments in different areas of the country. The sales budgets for 

the year ending 31st December 1985 were: Hero Department13, 00,000: Department 14, 

00,000. It is estimated that by forced sales promotion the sale of ‘Zero’ in department. I 

will increase by 1,75,000. It is also expected that by increasing production and arranging 

extensive advertisement, Department III will be enabled to increase the ‘sale of ‘Zero’ by 

50,000. It is recognized that the estimated sales by department II represent and 

unsatisfactory target. It is agreed to increase both estimates by 20%. Prepare a Sales 

Budget for the year 1986. 

 

ghh;fh; ypkpnll;> `PNuh kw;Wk; [{Nuh vd;w ,U Ngdhf;fisj; jahhpf;fpwJ. tpw;gid 

,yhfh my;yJ tpw;gidj; Jiw> %d;W ntt;NtW ,lq;fspy; %d;W Jiwfis 

Vw;gLj;jpAs;sJ. 1985 brk;gh; 31 md;W epiwTw;w Mz;bd; tpw;gid kjpg;gPL 

gpd;tUkhW. P̀nuh Jiw 1>3>00>000. Jiw II> 4>00>000.tpw;gidje;jpuq;fs; %ykhf 

[PNuh Jiw I> tpw;gid 1>75>000 $LfpwJ. Jiw III> [PNuhtpd; tpw;gidia 50>000 

$l;LfpwJ. Kd; kjpg;gplg;gl;l tpw;gidia mjpfhpf;f 20% vd rk;kjpj;Js;sJ. 1986 

Mk; Mz;bw;fhd tpw;gid kjpg;gPl;ilj; jahhpf;f. 
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ASSIGNMENT – 1 

Max : 15 marks 

Answer any one of the question not exceeding 1000 words  

1. Classify the methods of management economics. 

Nkyhz;ikg; nghUshjhu Kiwfs; tifgLj;Jf. 

2. Explain the Law of Demand. What are the factors that determine the Law of Demand? 

3. Explain the various forms of internal and external economies of scale. 

 

ASSIGNMENT – 2 

Max : 15 marks 

Answer any one of the question not exceeding 1000 words  

 Explain the determinants of supply.

2. Describe the various types of Imperfect Competition. 

epiwFiwg; Nghl;bapd; gy;NtW tiffis tpsf;Ff.  

3. Define Monopoly and What are the features of Monopoly? 

tiuaW Kw;Wupik. Kw;Wupikapd; ,ay;Gfs; ahit? 

 



ASSIGNMENT – 3 

Max : 15 marks 

Answer any one of the question not exceeding 1000 words  

1. What are the problems to be considered in pricing of a new product? 

 

2.  Explain the Break-even analysis. 

இ

3.  Explain Profit Forecast in detail. 

  இலாப முன்கணிப்பு tpsf;Ff. 

 

 


